FTR2OFENEFH - BELAEXERAERE MFELOLERIZTONT

BEH5-3

1 NEFHERIEY—ERAEBEE (BhI M)
284 E 295 E
X % ) = B)—(A) | (B)/(A)
4 SRR Y —E R(H#7L) 175,327 22.316,269 22,140,942 -
& |FFEEY—EREE (EE%E)) 473,898 69,818,929 69,345,031 -
i SHER Y —E RGBS EE(H—E RA)) 0 13,882,056 13,882,056 -
&5t @ 649,225| 106,017,254 105,368,029 -
NETIHAENE (N ERHE) (BB O 223,999,533 108,448,233] -115,551,300 -
&it (O+@) 224,648,758 214,465,487 -10,183,271 95.5%
” BRI —E R(A%EL) 290,271 67,688,073 67,397,802 -
& | BRBEY—EREE (EE%E)) 473,153 76,463,725 75,990,572 -
B EHRY—E RS EE(H—EZA)) 0 1,115,430 1,115,430 -
% =
&5t ® 763,424 145,267,228 144,503,804 -
NEFHERNE (NERHTE) (FB) @ 276,226,688 129,884,394| -146,342,294 -
&it ®+@) 276,990,112 275,151,622 -1,838,490 99.3%
2 NEFHTTIROANE (B A)
284E 295 &

X A B)— (A B)./ (A

=3 %) A) B) (B)— (A) (B).~(A)
NETFHTTIRD AV NE 152,686 28,601,781 28,601,781 -
NEFHZIE(NERGE) (BB) 128,976,388| 105,310,591 -23,665,797 -

&5t 129,129,074 133,912,372 4,935,984 103.7%
3 EHEDY—ERE (B A)
28%FE 294 E

X LAY —

X %) (A) (B) (B)— (A) (B).” (A)
BRI —ERE 0 5,558,412 5,558,412 -
SRR —ERE 0 129,600 129,600 -
&5t 0 5,688,012 5,688,012 -

4 SENEY—ERE (B A)
28%FE 294 E

X LAY —

X %) (A) (B) (B)— (A) (B).” (A)
BAENEY—EREBEHENEE 0 228,998 228,998 -
&5t 0 228,998 228,998 -

5 BEEXIFHH (B A)
284 E 29FE

X LAY —

X o) A) (B) (B)— (A) (B).” (A)
BEILFHH 2,750 593,150 593,150 -
NEFHTT IR AVNEET I FHH 1,300 296,550 296,550 -
&5t 4,050 889,700 885,650 -

6 D (BfHr M)
284 E 29FE

X LAY —

X o) (A) ) (B)— (A) (B).” (A)
RMEESE 0 4,300 4,300 -




